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1. ^  qT«Wl5d *1^ HI<4I ^SnrTT

(A) SiJSiH
(B) ̂

(C)

(D)

^U5-3T

6.

2. ft'-'beiinci TTMT crt^l^
% ?

(A) 1000 1200-M

(B) 1300 1500 M

(C) 1500i^^3Tf^

(D) 1000

3. 3TRfer^^^Elf^t

(A) 60%^37f^
(B) 50%t60%

(C) 40%t50%

(D) 40%

4. t ?

(A) 4?Fraf

(B)

(C) TT^Mt
(D) Srrftr

5. Tf zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ & ^ ̂  ̂ 3TTO

?

(A) ^
(B) ^

(C)

(D) ^sq^-JEnft

8.

1^ 2024 "fen ̂

?

(A)

(B) <*»<"!

(C) ^"srfclM

(D) ^

ferf̂  "^ic^n^ %5RT % 3?Rpfer i?®r "51^

WH "STO" W 3TI^PT ^ MKpHe*!

(A) ? 10,000

(B) ? 20,000

(C) ^30,000

(D) ? 40,000

%f^ ^ ^ ̂  ̂  3RTO

2023 "tow t ?

(A) Prompt

(B) Situationship

(C) HaUucinate

(D) Swifitie

31^ TT^ cffefpsft finRifiad

(A)

(B)

(C)

(D)
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1.

2.

3.

4.

5.

SECTION - A

General Studies

Where among the following
Bauxite is not found ?

(A)

(B)

(C)

(D)

Shivpuri

Katni

Umaria

Shahdol

What is the approximate length
of the Vindhyachal-mountain
range ?

(A) 1000 km to 1200 km

(B) 1300 km to 1500 km

(C) More than 1500 km

(D) Less than 1000 Ion

The percentage of Reserved
Forest in Madhya Pradesh is

(A) More than-60% -

(B) 50% to 60%

(C) 40% to 50%

(D) Less than 40% ,

Which of the following is not a
Diamond mine ?

(A)

(B)

(C)

(D)

Majhgawan

Hinota

Majhauli

Angaur

Which of the following rivers
comes from the north and joins
^e Narmada river ?

(A) Doodhi

(B) -Sher

(C) Hiran

(D) All of the above

6. The theme of World Environment

Day 2024 was

(A) Land restoration

(B) Desertification

(C) Drought resilience

(D) AH of the above"

7. Under Civil Service Incentive

Scheme, how much amount
is given by Madhya Pradesh
Government, on passing the
preliminary examination of Union
Public Service Commission ?

(A) ̂  10,000 ■

(B) ̂ 20,000

(C) ? 30,000

(D) ? 40,000

8. Which word has been declared

by Cambridge Dictionary as the
word of the year 2023 ?

(A) Prompt

(B) Situationship

(C) Hallucinate

(D) Swifitie

9. Madhya Pradesh State Archeiy
Academy is located in which of
the following cities ?

(A) Indore

(B) Dewas

(C) Bhopal

(D) Jabalpur

SMFE/2024-A [ P.T.O.



10.

-ill-Mid^ ^ ̂ % H^FT

^ ?

(A) 36 f

(B) 35 t

(C) 33 f

(D) 32^

11. Plnf^R^d ̂  t ̂  IJCJT "3^ ̂

•i^\5l ̂  ?

(A) MdiRI

(B) ̂  HRm

(C) 5ft^.^ft.

(D)

12. "OT '^^ "51^ M-ciNcfl TR

3TW^ ̂  ^TTftrT SJT ?

(A) 29 1993

(B) 30 1993

(C) 3l1^?IRT, 1993

(D) 28l^^TR^, 1993

13. W 31^ Tf 31RRR

^ TTTfer i^fT ?

(A) 1989

(B) 1990

(C) 1992

(D) 1995

SMFE/2024-A

15.

14. %?T-^3Fm #3RT % 3irPfe "SJ^ zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ #

1^ #T ̂ FRtM ̂  bRtcT 1^ WI ?

(A) wM

(B) Tfe,

(C) ^TR^,

(D) OTTft^TT,

2011 ̂  ̂SfTRPJRT li 3I59R W "9^ Tf

-^CIM ^T^Rlf^ ^jR^RslfT *^lcll I^dl

^-^rrt ?

(A) 1^

(B) ^

(C) iMtt

(D)

16. (NeGP) %

■ f^RH ite ^ ̂

RRTRmrt

(A) ■ ^-'SPTM "

(B)

(C) ^TRR

(D)-

17. ^^3q#T ^

^  % 1rf% "f^RH ^ITcTT "t,

(A) ^TT^OT (HTML)

(B) ^4)|4 "ferkf (URL)

(C) yldldiM (HTTP)

(D) 3n^ 1^ (loT)

^  -



10. Ramesh Chandra Lahoti, bom
in Guna, .Madhya Pradesh, was

which order of the Chief Justice

of the Supreme Court ?

(A) 36""

(B) 35'''

(C) 33"^

(D) 32'"'

11. Who among the following has

hot been the Chief Minister of

Madhya Pradesh ?

(A) Shri Prakash Chandra Sethi

(B) Shri Govind Narayan Singh

(C) ShriV.C. Shukla

(D) Shri D.P. Mishra

12. When was the Madhya Pradesh

Panchayati Raj Act passed by the

Legislative Assembly ? *'

(A) 29 December, 1993

(B) 30 December, 1993',

(C) 31 December, 1993

(D) 28 December, 1993.' ~

13. When was the Scheduled Tribes

Prevention of Atrocities Act

passed in Madhya Pradesh ?

(A) 1989

(B) 1990

(C) 1992

(D) 1995

14. -Which three tribes in Madhya
Pradesh have been targeted under
the PM-Jahman Yojana ?
(A) Baiga, Bharia, Saharia

(B) Gaud, Bhil, Bhilala

(C) Pardhi, Kol, Korku

(D) Dhoba, Agariya, Barela

15. Which is the district with

minimum tribal .population in
Madhya Pradesh as per 2011
Census ?

(A) Bhind

(B) Morena

(C) Dindori

(D) Tikamgarh

16. The compendium of Mission
Mode Projects under National
e-Govemance Plan (NeGP) is

.. known as

(A) E-Pramaan

(B) Digi-Locker

(C) Saaransh

(D) Meily

17. is used to design
standardised web pages, so that
the web contents can be read and

understood from any computer.

(A) H3rper Text Markup Language
(HTML)

(B) Uniform Resource Locator
(URL)

(C) Hyper Text Transfer Protocol
(HTTP)

(D) Internet of Things (loT)

SMFB/2024-A [ P.T.O.



18. ^ t iftw

(A)

(B) ̂

(C) ihL\m

(D) ̂

19. ^ a^rit&T tesiT t, ^

3RJR m ̂  ^ t

(A)

(C) ctJMis-^ii^iRa

(D) Z^-3n^lRd

20. IMPS #T ̂

^ ̂ dH-iJlM ^ felled

I IMPS^l^^t

(A)

(B) ipft ill^lKM ■

(D)

21. 2024% ^5^ % fen Tf

(A) ̂

(B) %%#

(C) ̂

(D) ̂

SMFE/2024-A

22. Tl^ ^IWhRr 2024

% 3TTf %!^ ̂  f%e^ ̂  ̂

^ ?

(A)

(B) felRftiiraT

(C)

(D) 3TRfl'^^

23. ^3ferT-%5HT i%?T i^TPT ̂  TET^ftRT t ?

(A)

ikm

(B) ^

(C) i?f|^ 1%TFT

(D) i%HH 4>rM|u| ̂  ̂

24. "SRT HFto

1%n^ "^Ffl^ ̂ IR^" ̂  ̂ 31^

%i%Hl^^fl3nm ?

(A) ̂ m\

(B) ̂

(C) WR

(D) m

25. 2024 Tt ^

y WJ| Hdl^l W ?

(A) 75

(B) 60

(C) 50

(D) 35

id^



18.

19.

20.

Which one of the following is not

a Social Networking Platform ?

(A) Linkdin

(B) Reddit

(C) Instagram

(D) Google

Unix is an operating system
with the following type of user

interface

(A) Voice-based Interface

(B) Graphical User Interface

(C) Command-based Interface

(D) Touch-based Interface

IMPS is widely used digital

payment method for various

e-commerce transactions. The

foil form of IMPS is

(A) Inst^t Money Payout Service

(B) Instant Money Processing
Service

(C) Instantaneous Monetary
Payout Service

(D) Immediate Pajrment Service

21. In Lok Sabha Elections 2024,

which phase held the fewest

Parliamentary seats for election ?

(A) Fourth

(B) Fifth - -

(C) Sixth

(D) Seventh

22. Who won the gold medal in IQ Foil
event of Senior National Sailing
Championship 2024 ?

(A) Neha Thakur

(B) Vidhyanshi Mishra

(C) Preeti Rajak

(D) Ashi Chouksey

23. Udita Scheme is related to which

Department ?

(A) Department of Food, Civil
Supplies and Consumer
Protection

(B) Scheduled Caste Welfare
Department

(C) Department of Women and
Child Development

(D) Department of Farmer Welfare
and Agriculture Development

24. President of India awardee,
BhagirathPrasadTripathi 'Vagish
Shastri" was bom in which district

of Madhya Pradesh ?

(A) Bhopal

(B) Indore

(C) Sagar

(D) Dhar

25. In 2024, which edition of

Khajuraho Dance Festival was

celebrated ?

(A)

(B)

(C)

(D)

75

60

50

35
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26. 3T?T3if ̂  ^

(A) TIrPf 3T^

(B) ̂  aR^

(C) ̂ FR 3mR

(D) ̂  3™r

27. '«R^ m 1^ ^ t ?

(A)

(B)

(C) zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA^■ W)K

(D)

28. 3t^ ̂

^i§«T' ^snPR ftRT '^m t ?

(A) ^FTft^TT

(B)

(C) ^

(D) ^

29. ^3TT5^]^ ^ 1^ ^ 1^

3™t ?

(A) irra^

(B)

(C)

(D)

30. ■  ^ ^

^reftT % "f^ 3lfesE "I ?

(A)

(B)

(C)

(D)

31. "^ (^) ^

?

(A) 1024

(B) 1024 X 1024

(C) 1024 X 1024 X 1024

(D) 1024 X 1024 X 1024 x 1024

32. 1^ ̂  ̂  "mi

4^ ^ "9 ^ % 1^ 1^

WT t, ̂  ^ ?

(A) arfeR

(B) im^dl

(C)

(D)

33. 3TT®19IpM ^ ^

^TOT 49 4H4-^ ̂  ifeimr ̂  9^ ̂
4^[ 49 W 4?c9 % 195^ 4^ 44 ̂ 3q4tn

%4T4n4Tt ?

(A) itti

(B) F^ffhr ciRm

(C) #Teri94

(D)

/

SMFE/2024-A 8



26. The largest and ancient example

of Udaigiri cave sculpture is

(A) Matsya Avtar

(B) Kurm Avtar

(C) Vaman Avtar

(D) Varah Avtar

27. T)hanbau Songs* are related with

which ceremony ?

(A) Birth ceremony

(B) Marriage ceremony

(C) Education attainment

ceremony

(D) Funeral ceremony , .

28. Which tribe of Madhya Pradesh

build 'Meghnath Pillar' (Khambh) ?

(A) Agaria

(B) Korku

(C) Bhil

(D) Kanwar

29. Umathwadi is a type of dialect of

Madhya Pradesh ? .

(A) Malwi

(B) Nimadi

(C) Bundeli

(D) Bagheli

SMFE/2024-A

30. - Which region of Madhya Pradesh

is famous for wooden toy-industiy ?

(A) Dewas.

(B) Budhani

(C) Mandla

(D) Gwalior

31. How many Mega Bytes are there

in a Tera Byte (TB) ?

(A) 1024

(B). 1024 X 1024

(C) 1024 X 1024 X 1024

(D) 1024 X 1024 X 1024 x 1024

32. Which one of the following is used

to convert a high level language

into a form which the machine

can understand ?

(A) Assembler

(B) Compiler

(C) Interpreter

(D) Inverter

33. In the field ofArtificial Intelligence,

which method is used to test a

machine's ability to match the

human-level intelligence ?

(A) Turing Test .

(B) Machine Learning

(C) Deep Learning

(D) Robotics

[ P.T.O.



34, ^ ̂ "t ?

(A) 3rl#^^

(B) ̂  iftyi^M

(C) (rf'3^ "SftdSPT

(D)

35. Rwi^fed t "^r ̂ -'HT TJ^ Tl^

WT (NeGD)^^TftitoT^I ?

(A) iiin '

(B) 0^
(C)

(D)

36, Sill-t^d % -d^rldl^ % 3^35m

WI^ ̂  1^ "STO ̂  t ?

(A) TR

(B) ̂

(C) 31^-^

(D) ̂

37. ^5^ 11?^ "3^ % "fen w zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ ?

WTP^TcT: 3?f^ ^ t ?

(A) ^

(B) TTf^

(C) ^xrtt

(D)

38. til<<sj|^ pFT <add

(A) 3RR^

(B)

(C)

(D)

39. 3ikH ̂  ^ ^

(A)

(B)

(C) ^

(D) Rid{l*rfl

40. ^ ̂  ^ t ?

(A)

(B)

(C) ^

(D)

41. 2023-24

^  TI^ (GSVA) ^ "fen

(A)

(B)

(C)

(D)

42. 4G£r-g^ ̂  wf^ ̂  1^

t^'gfeg t ?

(A)

(B)

(C) ^Mk

(D)

SMFE/2024-A 10



34. In AI, what does NLP. stand for ?

(A) Neutral Learning Projection

(B) Neuro Linguistic Programming

(C) Natural Language Processing

(D) Neural Logic Presentation

35. Which one of the following

is not a project of National

e-Govemance Division (NeGD) ?

(A) UMANG

(B) Sankalp 0^^
(C) Open Forge

(D) My Scheme

36. What type of climate does

Panchmarhi have according

to Thomthwaite's clinaate

classification ?

(A) wet

(B) sub-humid

(C) semi-arid

(D) arid

37. Which part of Madhya Pradesh

receives generally more rainfall in

the month of July ?

(A) Eastern

(B) Western

(C) Northern

(D) Southern

SMFB/2024-A 11

38. Ghorbari is the mining center of
which mineral ?

(A) Iron ore

(B) Goal

ie) Bauxite

(D) Manganese

39. Where was the crude oil refinery
established with the help of Oman ?

(A) Pithampur

(B) Indore

(C) Bina

(D) Singra.uli

40. Bhander canal-is built on which

river ?

(A) Ken

(B) Chambal ....

(C) Narmada

(D) Betwa

41.. In Madhya Pradesh, in the year
2023-24,'at current prices, which
sector has contributed the most

to the Gross State Value Added

(GSVA) ?

(A) Primary sector

(B) Secondary sector

(C) Tertiary sector

(D) None of the above

42. Majhagawan area in Madhya
Pradesh is famous for the

production of which ihineral ?

(A) Copper

(B) Diamond

(C) Manganese

(D) Coal

■  " I P.T.O.



43. ttyzt 31^ ^

^^la ^ "tI ?

(A) 2006

(B) 2010

(C) 2012

(D) 2016

44. "tf

^h^RT" 3TR^ ?

(A) 15 2008

(B) 13 3FR^, 2008

(C) 10 ai^^, 2008

(D) 27 2008

45.

(e-NAM) 3nW ̂  t ?

(A) 131^,2016

(B) 14 31^^,2016

(C) liTf,'2017

(D) 30 31^,2017

46. '31R^ ^ t ?

(A) -iHcH-n

(B) 3TO^

(C) %

(D) 31^JcT^TM

47. ^ WT ̂  1^

■  ?

(A) "

(B)

(C)

(D) ttto

48. % trl<a=h t ?

(A) ̂

(B) WTRT

(C)

(D) 9fl=t)i-d ̂

49. "ate; ^ 1^ t ?

(A)

(B) ̂

(C) i4R9gi:

(D) ̂

50. sblPlcfli ^ ^ ̂ ?

(A)

(B) alter

(C) ai^wT^

(D)

SMFE/2024-A 12



43. When was the "Jalabhishek~

Yojana" launched in Madhya
'  Pradesh ?

(A) 2006

^ (B) 2010

(C) 2012

(D) 2016

44. When was the ''Mukhyamantri

Krashak Jeevan IMyan Yojana"

launched in Madhya Pradesh ?

(A) 15 September, 2008

(B) 13 Au^st, 2008

(C) 10 October, 2008

(D) 27 September, 2008-

45. When was the '^National,

Agriculture Market" Scheme

(e-NAM) of the Government

of India launched in Madhya -

Pradesh ?

(A) 1 April, 2016

(B) 14 April, 2016 ' '
(C) 1 May, 2017

(D) 30 April, 2017

46. Who was the author of the

'Anand Raghunandan' play ?

(A) Ramesh Nanwani

(B) Anant Harsh

(C) Vishwanath Singh

(D) Amritlal

47.' -Devlalikar is associated with

which genre .of art ?

(A) Painting.

(B) Drama

(C) Wooden craft

(D) Singing

48. Who is the author of TBhavishyat

Katha' ?

(A) Bharthari

(B) Dhanpal

(C) Muktibodh

(D) Shrikant Verma

49. The famous Hindola Toran is

located at which place ? -

(A) Mandu

(B) Sanchi '

(C) Gyaraspur

(D) Bharhut

50. Revolutionary Mardan Singh was

associated with which place ?

(A) Banpur

(B) Orchha

(C) Ajaygarh

(D) Devgarh

SMFE/2024'A 13 '  [p.t:o.



51.

52.

53.

54.

(5|^W

^ 1952 ̂  ^ M^lil 55. WcT ̂  ^ intelTJr %
3T^^f ?

(A) zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ ^. ciMI-jfl, 3?T^. "q^. TT^T.

^  3t1^ ̂  5Ttol41 ?

(A) 30

(B) 20

(C) 60

(D) 45

^ 1894 ̂  ^ ^ ̂

■ f^iRf^rfecT "ti ̂  1^ ^ "toti %

Sft ?

(A) ^

(B)

(C) ^

(D)

1^?tA 3ig^Tf^

?

(A)

(B) ^TFR

(C)

(D) W

«TR^ 3tW4TT, 2002 Rnl^fed

(A)

(B)

(C)

(D) ^fsnicT

(B) %. ■ ^. K5UIT

(C) Tie.

(D) Ti.^

56. ^ ̂  ̂

(A) ^ ^ 4Rr ̂

(B)

(C) y "feFrft % ^

(D) M=bRI % "S

57. ^ 3FFft ̂  3n^ t

(A) 1^TI^3ra5TT'^

(B)

(C)

(D) ^HvfZR'ST^'d

58. Ti^-iWif ̂  ^ ̂

"I

(A)

(B) iM

(C) lA

(D) 1 %M6<

■  \

SMFB/2024-A 14



51.

SECTION -B

Forestry and General Science

Based on National Forest

Policy, 1952, how much percent

area under forest should be

maintained in hdls ?

(A) 30

(B) 20

(C) 60

(D) 45 '

52. First Indian Forest Policy, 1894

was formulated on the report of

which of the following person ?

(A) Hooker

(B) Voelker

(C) Duthee

(D) CoUett

53. Who coined the term "Social

Forestry" ?

(A) J. C. Westoby

(B) Nair

(C) Combe

(D) Kang

55. Who is the present Chairperson

of National Biodiversity Authority

in India ?

(A) Dr. B. Balaji, I.F.S.

(B) K. P. Raghuram

(C) G. S. Paroda

(D) C. A. Reddy

56. The major part of the energy
released in nuclear fission is

obtained

(A) In form of kinetic energies of

the fragments obtained from
fission

(B) In form of kinetic energy of
neutrons

(C) In form of 7 rays

(D) In form of heat and light

57.

. 54". - Indian Forest Act, 2002 is related

to which of the following State ?

(A) Himachal Pradesh

(B) Madhya Pradesh

(C); Bihar - .

(D). Gujarat -

SMFE/2024-A 15

Sun gets its energy

(A) By the process of fission

(B) By the process of decay

(C) By the photoelectric process

(D) By the process of fusion

58. The wavelength of x-rays is of the

order of

(A) 1 m

(B) 1 cm

(C) lA

(D) 1 kilometer

[P.T.O.



59. ^ ^ ^
ij] % fy^

^R% ̂  ̂ ̂ ^ t ?

(A) fv>fR

(B) fv = fR

(C) fv<fR

(D) 2fy=fR

60. #T ̂

tfl ̂  1Wf ̂  ^zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

^■ ^■ ^TTcft't 1 ^"^"t

(A)

(B) "iM^I^TOT

(C)

(D)

61. Wi "9 3rilrf^ 1^ ̂

"9 HiRd "f^i^ "n^ ̂  ?

(A) 2017

(B) 1999

(C) 1986

(D) 1972

62. mro 9 ^ i^RR ̂  ̂  "9
SJT ?

(A) 2006-07

(B) 2002-03

(C) 2012-13

(D) 2017-18

63. 3Tte7tm ̂  1927 ̂

TO 9 aifer t ?

(A) 50

(B) 70

(C) 60

(D) 65

64. Tl^ ̂  ̂Tf9# 9tf9 ^ 9

(A) 1972

(B) 2002

(C) 2014

(D) 2017

65. 39^99411, 1980 9
^ ter 9 t ?

(A) f^MNd 3i95T
(B)

(C) iftTOT

(D)

66. (rlRl4>l 3Tq9t^fn4%Uc9^'TOR"^ 20%
i2%^Rm^

t I 280 '^m ̂  ̂TRH 4^T ^

(A) 200

(B) 226^. 0^
(C) 228^.

(D) 232?.

67. in ^ 3TR ^ 313qm 9 : 7 T3:9
^ ozi^T 3fl3TO 4 : 3 f I ̂  ̂
^4% "599 W 2,000 ?. ^ ̂
f, ̂  3?^ -RTf^ 3M f

(A) 36,000?. -0:9 28,000?.

(B) 27,000?. ̂ 21,000?.

(C) 18,000?. 14,000?.

(D) 9,000?. 7,000?.
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59. The focal length of a convex.lens 63.

are fy and 'fj^- for violet and red
light respectively, then which

one of the following relation is

correct ?

(A)

(B)

(C)

(D)

fv>fR

^V ̂

fv<fR.

2fv = fR

60. The rays of different colours fail
to converge at a point after going
through a convex lens. This
defect is called

(A) Chromatic aberration

(B) Spherical aberration

(C) Distortion

(D) Conia

64.

"Cattle trespass of Forest Act,
1927 is covered under which
Section ?

(A) 50
(B) 70
(C) 60
(D) 65

National Agro Forestry Policy was
promulgated during which year ?
(A) 1972
(B) 2002
^(C) 2014
(D) 2017

65. Which of the following State is
not covered under the Forest

Conservation Act, 1980 ?
(A) Himachal Pradesh
(B) Jammu and Kashmir
(C) Haryana
(D) Kerala

61. Environment Protection Act in

India was passed during which

year ?

(A) 2017

(B) 1999

(C) 1986 '
(D) 1972

62. ' Nation^ Bamboo Mission was

launched during which year by
Govt. of India ?

(A) 2006-07

(B) 2002 - 03

(C) 2012-13

(D) 2017-18

66. Latika offers a. discount of 20% on

all the items at her shop and stiU
makes a profit of 12%. Cost price
of an-article marked at Rs. 280 is

(A) Rs. 200
(B) RsV'226
(C) Rs. 228 , .
(D) Rs. 232

67. The ratio of incomes of two

persons is 9 : 7 and the ratio of
their expenditures is 4 : 3. If each
of them manages to save Rs. 2,000
per month, their monthly incomes
are

(A) Rs. 36,000 and Rs. 28,000
(B) Rs. 27,000 and Rs. 21,000
(C) Rs. 18,000 and Rs. 14,000
(D) Rs. 9,000 and Rs. 7^000
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68. WTTsff ̂  2079

I  ̂ 3^^ TT^ 271 1^

wsm 189%, wn%Wt

(A) 2079^(27x 189) '

(B) (2079x 189)^27

(C) (2079x27)^189

(D) (189x27)^2079

69. - 8x + 4 = 0 ̂

%  '

(A) 24

(B) 48

(C) 64

(D) 32

70. ̂  % teof WH

%f, ^

(A)

(B) 37m

(C) ̂

(D)

mJii

71.

3Rnf%%

(A) #5rtt

(B) tIt

■  (C) TTmR

(D) Micrii«JK

72. ifrl

3ri^Rj "TOT % %

(A) 3TmT15

(B)

(C) ̂ #7^3TTOT?5

(D)

73. ^n%iiT ̂

I

(A) 1961

(B) 1971

(C) 1981

(D) 1991

1^ 'SRJK % ̂  ̂ 3IM % 3%T

^  ̂ ^En1% % ?

(A) 37^7fi^^

(B)

(C) 3TRfeT^

(D)

75. im (TOT/^HOT)

arM^, 1972^ %

74.

cm ^ ̂ %

37q^ ̂  ̂ ^ HT 3Tf^^
'3ll{l "^iTcfi % I

(A) m35(l)

(B) m35(2)

(C) «?Kr35(3)

(D) m35(4)
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68. The LCM of two numbers is • 72."

2079 and their HCF is 27. If the

first number is 189, the second

number is

(A) 2079^(27x 189)

(B) (2079x189)-27

(C) (2079x27)-189

(D) (189x27)-2079 ' '
73

69. The discriminant of the quadratic

equation - 8x + 4 = 0 is

(A) 24

(B) 48 ^
(C) 64

(D) 32

.

74.

70. If the diagonals of a

parallelogram are perpendicular

to each other, then it is a ,

(A) Trapezium

(B) Rectan^e

(C) Square

(D) Rhombus 75.

71. The most dominant tree species

of the dry tract in India is-

(A) Khejari

(B) Khair

(C) Poplar

(D) Malabar Neem"

"Green House Gas (GHG)

which is present in the largest
concentration in the atmosphere is

(A) Nitrous oxide

(B) Chlorofiuorocarbon

(C) Carbon dioxide

(D) Hydrofluorocarbon

Biosphere Reserve Programme
was launched by UNESCO in the
year

(A) 1961

(B) 1971

(C) 1981

(D) 1991

Which t5rpe of forest has complete
protection and it is exclusive
properly of government ?

(A) Unclassed fdfest

(B) Village forest

(C) Reserved forest

(D) Protected forest

The State Government issues a

notification specifying its intention
to constitute an area as National

Park under of the Wildlife

(Protection) Act, 1972.

(A) Section 35(1)

(B) Section 35(2)

(C) Section 35(3)

(D) Section 35(4)
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76. % ^ yRlMlI^d "fesiT ?

(A)

(B) 3ft.

(C) Rlcrflo^l^d

(D)

77. "# t

(A)

(B)

(C)

(D)

78. ̂  l^f^WT ft? W WT ̂

Plnl^R^d % 3mm ̂  ̂  t

(A) ftfttjai

(B) ̂ 5Fg3ft^1^f^^

(C) "9^ Wfft^KTT W

79. W % 3rfft y'didlMH ̂  t

(B) cTM 1^ 3Tk fe

(C) 3fk te wPf^
p) 3ftT H1W

so. 3rTf^T^ ^ "I

(A)

P) wt^n^fe^r

(C)

P)

81. NIRTH^^^t
(A) TO

(B) 3ffq5 ^

(C) W ^

p) ftsw w ^

82.

(A) ft&T sps
(B) W ^
(C) ̂

P)

83. ^?ft ^ wrfer ?ft 31^ %
1^ ^ t ?

(A) ̂

(B) ̂

(C)

(D) Tfe

84. i^sft % ft̂  ft "nft ̂  ̂ ft ̂
^ w*f; "a^n, ̂  ^

1ft> ^^{ft ftftnft^n ^ "t, "TO
% ?

(A)

(B) ̂ nft^n

(C) ̂ FHT

P) W^
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76. Who coined the term biodiversity ?

(A) Walter G. Rosen

(B) A. O. Wilson

(C) H. B. Lilljwhite

(D) Rachel Carlson

77.

78.

79.

80.

Diversity of Amphibians is
highest in

(A) Gangetic plain

(B) Eastern ghats

(C) Western ghats

(D) Deccan plateau

Hot spot of biodiversity identified
on the basis of following c

(A) Rich biodiversity of plants

(B) Diversity of animals

(C) Rich endemism and degree of
threatened species ' ■

(D) Rich flora and fauna '

Critically^ endangered birds of.
India is

(A) Peacock and sandpiper

(B) Red headed vulture and pink
headed duck

81. FuUformofNIRTHis

(A) National Institute for Rural
Tribal Health

(B) National Institute of Research
in Tribal Health

(C) National Institute for Research
in Tourism and Hospitality

(D) National Institute for Rural
' Tourism aiid Hospitality

82.

83.

Comb duck and Egyptian
vulture

(C)

(D) Pelican and stork

84.

Biological method of waste
management is

(A) Incineration

(B) I^olysis ' *

(C) Sanitary landfill

(D) Shredding

Bhuri Bai of Pitol is associated

(A) Painting

(B) Singing

(C) Dance

(D) Drama

Padma Shri Awardee Shri Aijun
Singh Dhurwey is from which
tribe ?

(A) Baiga

(B) Bhil

(C) Saharia

(D) Gond ,

The traditional practice of
branding an infant's stomach

with hot iron or bangles in the

belief that it can cure ailments

is called what ?

(A) Gulabi

(B) Jharia

(C) Dagna

(D) Jhulni
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85. #3RT t

(A)

(B)

(C) <[lchl«b<ui

(D) '^m

86. 3^: %^ntTT^ ™

^MMdl t ?

(A) d^Nl^d f

(B)

(C) ̂  3TTOTI5 31^1^ f .

(D) ̂ ^n^3TO^f

87. 3q?ftTT^t

(A) ̂

(B)

(C)

(D)

88. ^ qr wft qiq "S t

(A) FCgOg

(B) FeO

(C) FegO^

(D) Fe^Og-xHaO

89.

(A) H2O (qrq)

(B) CO + H2

(C) CO + HgO

(D) CO2 + H2

90. l?TT^t

(A) CaO

(B) CaCOg

(C) Ca(OH)2

(D) Ca(HC03)2

91. qM qq 3m qq qwrtol^q?

(A) 'it. ffeq

(B) q^.

(C) f^n-ci

(D)

92. 3^mqq3T5ft

(A) q^ qrq ̂  qr^ qq

(B) q^ftrqrfqq

(C) ̂ Mqr^qq

(D) ftqR qi^ qq

93. Tl^qq^, 1952^ qRcT^i^

% ̂rqfm? qq qq t ?

(A) ^ftq Bj^B

(B) m

(C) qtq

(D) ̂

94. "I^flqnfe 3q& I

(A) 3R^ ̂  ̂

(B) mq/qq^ iii|t ̂

(0) qmqqqi^"ft^

(D)

SMFE/2024-A 22



/

85. Janani Suraksha Yojana is

related to

(A) Post Partum Care

(B) Institutional Delivery

(C) Immunization

(D) Nutrition

86. ^A^at is common between siderite,
malachite and calamine ?

(A) All are" carbonate ores

(B) All are sulphide ores '

(6) All are oxide ores

(D) All are nitrate ores

90. , Slaked lime is

(A) CaO

(B) CaCOg

(C) Ca(OH)2.

(D) CalHCOg)^

91. First Inspector General of Forest
of Government of India

(A) D. Brandis

(B) F. Bailey

(C) W. Schlich

(D) Shuttle Worth

87. Transparent soap can be
prepared by using •

(A) Water

(B) Acetone

(C) Giycol ■

(D) Ethanol .

88. Rust at the surface of iron

consists of

(A) Fe^Og '
(B) FeO

(C) Fe304

(D) FCgOg - jdlgO

89. Water gas is

(A) HgO (steam)

(B) CO + H2

(C) CO +.H2O

(D) CO2 + H2

92. High Forest means

-  (A) Forest at higher elevation

(B) Climax forest

(C) Forest with tall trees

(D) Forest of seed origin

93. National Forest Policy, 1952
advocated how many functional
classification of India's forest ?

94.

(A) Three

(B) Four

(C) Five

(D) Two, .

Halophytes grows on

(A) Acidic soil

(B) Saline soil

(C) Water logged soil

(D) Sandy soil
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95. ^

(A)

(B)

(C)

(D)

96. 1^ ^ A ̂  B %

^  "sM^t iWr

10 a

A
-o-

2.5 Q B
--V\VW O-

30 n

+  I-

(A) 12.5 3ik '

(B) 10 3ik

(C) 15 3ftH

(D) 30 ̂

97. iT.3r. ̂  fm ̂  1^ ̂

?

(A) 1981

(B) 1979

(C) 1980

(D) 1982

98. mj % imR ̂  ̂  ̂ sft

(A)

(B) 3ikfe%

(C)

(D)

99. ^ 3Tf^ 1^ ̂

(A)

(B) % 3135FST ^

(C) ^ 31^ ̂
(D)

100. ^ TO (AC) 3irjf3 ̂
3TT^-^t

(A)

(B) 60

(C) 100

(D) 120

101. ^?IFT TRF^TH ̂  % ?

(A) TÔ TI^^UR

(B) TRT^ TT^ ̂3?JH

(C)

(D) <1"^^ ̂ WH

102. "ag?^ ifrr ^ t

(A) ̂ vTK)h

(B) Hl^ilviiH

(C)

(D) afrsik

\
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95. Family of Tendu (Diospyros

melanoxylon)

(A) Ebenaceae

(B) Dipterocarpaceae

(C) Combretaceae

(D) Diospyraceae

96. The equivalent resistance of the

following network shown in figure

between the points A and B is

ion

A
-o-

j

I  aaaaa^

30 n

2.5 a B
-o—

+ 1 (-

(A) 12.5 ohm

(B) 10 ohm

(C) 15 ohm

(D) 30 ohm

97. In which year the Madhya

Pradesh Uija Vikas Nigam

(MPUVN) was established ?

(A) 1981 ^0
(B) 1979

(C) 1980

(D) 1982

98. The magnetic effect of current
was discovered by

(A) Fleming

(B) Oersted

(C) Faraday

(D) Ampere

99. The resistance of a wire does not

depend on

(A) Length of the wire

(B) Cross sectional area of the
wire

(C) Nature of the material of the
wire

(D) On the applied potential
difference

100. In India, the frequency of
Alternating Current (AC) supply is

(A) 50 cycle/sec

(B) 60 cycle/sec

(C) 100 cycle/sec

(D) 120cycle/sec

101. Which National Park is situated

in Rajasthan ?

(A) Carbett National Park

(B) Rajaji National Park

(C) Dudhwa National Park

(D) Ranthambore National Park

102. The main Green house gas is

(A) Chlorine

(B) Nitrogen

(C) Carbon dioxide

(D) Ozone
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103.

104.

105.

^ ̂ ^ ̂  t

(A) 301 50 Pbdiiflii 3Tf^ "TO
(B) 55 zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ & 65 M41d< 3lf^ "TO

(C) 66 90 Pbdl41d< 3rf^ "TO

(D) 90 ̂  115 M41<i< 3lf^ "TO

(A) ^

(B) ^

(C) 3Tmm ̂

(D) TRTFd^ l^fTO^mr ^

im "I

(A)

(B)

(C)

(D) it. %WI

106. "jriRt ̂  ^
■ q^twr) ^ ^ t

(B)

(C) ^/c?A**>/

(D) 3i)Fhl^^f^^

107. 2021%3135TK

^ 3Tt^ t 3^1 ̂  ^

(A) 10% ̂ 3d^

(B) 20% ̂  3d^

(C) 30% ̂  3lf^

(D) 40% ̂  3^

108. Wcfk^^

d^fr«=hiui ^ TR aimrter t ?

(A)

(B) -m

(C)

(D) 3M<1^ ^ ̂  ̂  qff

109. 2021 %313?fR

(A) ft#?T

(B) 31¥TO^ 31^

(C)

(D)

110. aicRii^ ̂  ^ TRI4T wr I !

(A) 21^ ^
(B) 21^

(C) 213t5^

(D) 2iHri

111. 4X it^ ̂  ̂T^W^tdt t

(A) W^TRR

(B) "SfcRmHRR

(C)

(D) (n*^dd

112. 3T^^^3RnFT^t

(A)

(B)

(C)

(D)
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103.

104.

105.

106.

107.

A severe-cyclone has a speed of

(A) 30 to 50 kilometer per hour

(B) 55 to 65 kilometer per hour

(C) 66 to 90 kilometer per hour

(D) 90 to 115 kilometer per hour

Rem is the unit of

(A) Sound

(B) Radioactivity

(C) Thermal disaster

(D) Chemical toxicity

Knock-knee syndrome is caused
due to

(A) Lead

(B) Mercury

(C) Floride

(D) DDT

Species which is not an ingredient
of Triphala Churan (an ayurvedic
herbal formulation)

(A) TeTminalia chebula

(B) Terminalia arjuna

(C) Terminalia bellirica

(D) Emblica officinalis

As per India State of Forest
Report, 2021 forest cover is
considered as all lands of more

than one hectare with tree

density of

(A) More than 10%

(B) More than 20%

(C) More than 30%

(D) More than 40%

108. Classification of Indian Forest by
Champion and Seth is based on

(A) Botanical

(B) Ecosystem

(C) Climatic

(D) None of the above

109.

110.

111.

112.

As per India State of Forest Report,
2021 which State has highest
percentage of forest cover ?

(A)' Mizoram

(B) Arunachal Pradesh

(C) Meghalaya

(D) Manipur •

International Day of Forests is
celebrated on

(A)

(B)

(C)

(D) 21"'March

21"'June

21"'May
21"'April

St

The arrangement of genes on the
chromosome is

(A) Parallel

(B) Antiparallel

(C) Linear

(D) Perpendicular

Ginger is vegetatively propogated
by

(A) Tuber

(B) Corm

(C) Bulb

(D) Rhizome
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113. ii ̂  ^ ̂ sRi?

?

(A) 3n^,

(B) 1M^, 3Tii?:, ̂ tof,
A_fN__Q,

^iMcni

(C) 3n#;,

(D)

114. 31^11^1 t ̂  ^

(B) TJcRtf^

(C) WNt

(D)

115. ?

(A)

(B) ̂

(C)

(D) ̂

116. WM^3TFT^

(A) arm

(B) 3m

(C) ̂ 5TtM3TFT
(D) ̂ aiFT

117. m ̂  '

^srH^"!

(A)

(B) %

(C) ̂  13^
(D)

118. «iiR4>l ̂  ^inai ̂  ̂ ^7^

g^OTT # tRSTTR" Pi^'ti^i zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ # 1^ ■ ?

(A)

(B)

(C) ^ aq^

(D)

119. wftq "qq q^jfqRT^ ^ifN, ̂  1% WTF^ ̂

^ wfk ̂ i^iT^rqiRq? % M tf ^5[RT WTI

(A)

(C)

(D) diA=#)/ f^i^^iMi

120. TT^ ^ "S dlwRld> ̂  ̂ WT ̂  "Slf^

q^aff qr qiq ^«t>i^'41

^ Taw % ̂  oTO qiRT d>^(r1ldl t

(A) ^TOT

(B) ^"^dH "q^qr

(C) ^rta

(D)
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113. Which among the following is the

coirect sequfsnce of classification ?

(A) Division, genus, order, class,

species, family

(B) Division, class,, order, genus,

species, • family

(C) Division, class, order, family,

genus, species

(D) Division, genus, family,

species, class, order

114. Amoeba is carnivorous and its

mode of nutrition is

(A) Holozoic

(B) Saproph5rtic

(C) Symbiotic

(D) Autotrophic

115. The Blood groups were first

described by

(A) Karl Pearson

(B) Karl Robertson

(C) Karl Landsteiner

(D) VonMohl

116. Forest fire spreading slowly over
the ground with low flame is

(A) Crown fire

(B) Surface fire

(C) Ground fire

(D) Creeping fire

117. Most destructive browsing animal

to the forest is

(A) Domestic elephant

(B) Sheep

(C) Camel

(D) Goat

118. The branch of forestry which

is concerned with the activities

.  ' directed towards the prevention

and control of damage to the

forests is called

(A) Forest management

(B) Forest mensuration

(C) Forest utilization

(D) Forest protection

119. is the teak defoliator

which is popularly known as teak
skeletonizer.

(A) Hyblaeapuera

(B) Hapalia machaeralis

(C) Hoplocerambyx spinicomis

(D) Tonica rdviferana

120. The amount of actual grazing in

an area expressed as number of

animals or equivalent cow units

per acre/hactare is called as

(A) Grazing capacity

(B) Optimal grazing incidence

(C) Grazing intensity

(D) Rotational grazing
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121. ABC^f ̂ A = 100°

AB AC f I ZB ̂  W

(A) 60°

(B) 50°

(C) 40°

(D) 45°

122. 1.5iffe?:t ITT^I^iT^ft

^  ̂ ̂ 28.5 ite t I :sm
^  ̂ ^ 45° t I

"^t •dr)-c||^ "f

(A) 30

(B) 34 Tte

(C) 38 Tfte

(D) 40-to

123. ^COt0 = -; '

(l + sin9)(l-sm9)

(1 + COS 0) (1 - COS 0)

35

P' 48

124. zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ ? 100 f I ̂

20 ^ t I ^

25 3^ ̂ lllHtn ^ ^Tk^ Wfift

"f^ ?

mm\s\
(A) 18

(B) 16

(C) 14

(D) 12

125. ^ B4^T"^Hk"EI^^t

(C)
64

49

(A) 108'

(B) 111'

(C) 113'

(D) 109'

V
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121.

122.

In a triangle ABC, ZA = 100° and
sides AB and AC are equal. Then
value of is

124.

(A)

(B)

(C)

(D)

60'

50'

40'

45'

There are 100 students in a

hostel. Food provision- for them

is for 20 days. How long will

these provisions last, if 25 more

students join the group ?

An observer, 1.5 meter tall is

28.5 meter away from a chimney.

The angle of elevation of the top of
the chimney from his eyes is 45°.

Height of the chimney is -

(A) 30 meter

(B) 34 meter

(C) 38 meter

(D) 40 meter

123. If cot0 = —; value of
8  .

(1-f sin0) (l-sin0) . .
is

(1

(A) 18

(B) 16

125.

(C) 14

(D). 12

Angular component of part B in

the given figure is

+ cos 0) (1 - COS 0)

35

P) ̂ 8

49

49

1°) ̂

(A) 108'

(B) 111'

(C) 113'

(D) 109'
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126. W

'  % 1^ ̂  "5 MjfT'^d 1^ w "I ?

■'(A)

(B) 3Tr^rf^-5^

(C)

(D) <iq<l<W ̂  ̂ ̂  ̂

127. zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA■ WS % 13:^ 3RT

^ ̂Pff, 3cdw, ^r^illq ̂

3?f^ ^ ^

^MrrteiT^nciTt ?

(A)

(B) ■ ^fef^

(C) MliJ'4»d ^

(D)

128. 31^ ^ ^ (^)

^ "^^THT ^in^ "t ?

(A)

(B)

(C)

(D) ^Ri'Hi

129. 3Trtt "OT1^ ^ ̂  % 1^
ftHferter ^ ^ t ?

(A) ^

(B)

(C)

(D) ^

133.

130. ^ 3TFRR dll^^l ̂  ̂  %

(A) V^

(B) ^

(C) #T

(D)

131. Firflri "^tcTT "I ?

(A) ^

(B) \^x\\m

(C) 3Fn^

(D) -st^aM

132. ^ ^ _

"^f I

(A) ^

(B)

(C) 3TTf^f^=^

(D)

% W

^ WT ̂  ^ rHR ^

^TTcTT "t ?

(A)

(B) ^Gj^iteaRd

(C) apirf^

(D) ^l'M<il=+>I^PlH
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126.

/

/

127;

The wood of (Shorea rohustd)

is categorized into which class of

refractory wood ?

(A) Non-refractory wood

(B) Highly-refractory wood

(C) Moderately-refractory wood

(D) None of the above

Which type of board is constructed

by fragments of wood and other

ligno-cellulosic materials, bonded

with organic binders with the help

of one or' more agents like heat,

pressure, catalyst, etc. ?

(A) Fiber board

(B) Sandwich board

(C) Particle board

(D) Core board

Good quality cricket bat is made

from which wood ?

(A) Populus deltoides

(B) Celtis oustralis

(C) SaVx alba

(D) Salve tetrasperma

129. Which term is used for the width

of the cut made by saw ?

(A) Space

(B) Gullet

(C) Pitch| -
(D) Kerf .

128.

130. How many variables are required

to prepare form class volume

tables ?

(A) One

(B) Two

(C) Three

(D) All of the above

131. Bile juice is stored in

(A) Liver

(B) Gall Bladder

(C) Pancreas

(D) Small intestine

132. S3mthesis of urea takes place in

the liver by

(A) TCA cycle

(B) Cyclic AMP

(0) Omithine cycle

(D) None of the above

133. Which plant growth regulator is

also called the stress hormone ?

(A) Gibberellin

(B) Abscissic acid

(C) Auxin

(D) Cj^okinin
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134.

135.

136.

137.

138.

(A) ̂
(B) WIW

(C)

(D)

(Kranz anatomy) ̂TFft ̂ TTcft %

(A)

(B)

(C)

(D) CAM^

(A) ̂

(B) "1^

(C)

(D) ̂

(A) ̂
(B) mr

(C)

(D) ̂

(A)

(B)

(C) um

(D) 1^

139. Wf ̂  (wjl^iiM) W 31^ %
i^i^r "? R^d "t ?

(A)

(B) Ust^l

(C)

(D) %r

140. "^-BT ^nqraff

3TTf^^ #iRT3if qr %%r t ?

(A)

(B)

(C)

(D) 3n^JRmFft

141.

(A)

(B) ^ wr

(C) ̂ ^fFwm % fe[%

(D)

142. WT^rf^ W=!T % ^ ̂ '^-W

?

(A) ^ 3lf^Tfe3TT ̂  TiTTcft f I

(B) "qr am aftr 3Rik arftfe^ ̂

n<|a)< "^rtrft % I

(D)

\
>

\
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134.

135.

Female reproductive part of a
flower is

(A) Stamen

(B) PoUengrain

(C) Endosperm

(D) Gynoecium

Kranz anatomy is present in the
leaves of

/

(A)

(B)

(C)

Cg plants

C3 plants

C4 plants

1/
/  (D) CAM plants

136. Whose sub-tribe is Abujhmaria ?

(A) Gond

(B) Baiga'

(C) Saharia " - ' .

(D) Bhil . , . ,

137. Baiga men seldomly put which
tattoo on the back of the hand ?

(A) Sun

(B) Star

■  (C) Moon (Chandrama) "

(D) Tree

138. Which is the common script used
for Gondi dialect ?

(A) Devanagari

(B) Brahmi

(C) Grantham

(D) Sinhali

139. Badal Bhoi Museum is located in

which district of Madhya Pradesh ?

(A) Chhindwara

(B) Dindori

(C) Mandla

(D) Betul

140. Which radio channel focuses on

tribal welfare schemes in local

languages ?

(A) Vividh Bharti

(B) Vanya Community Radio

(C) Radio Mirchi

(D) Akashvani

141. The purpose of adding gypsum in
Portland cement is

(A) To increase the time of setting

(B) To decrease the time of setting

(C) To increase softness

(D) For colour change

142. Which of the following statement

is true about chemical

equilibrium ?

'  (A) Reaction stopped at
equilibrium.

(B) Rate.of forward and backward
reaction becomes equal at
equilibrium.

(C) Concentrations of reactant
and product become equal at

equilibrium.

(D) None of these
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143. ^

% "fef^ 1^)^ ^MT

wftiR (^1^) t

(A) LDP

(B) HDP

(C)

(D) HWdH

144. [^^[d<j)d "I

(A) CuS04+M#T

(B) HCHO + f^HlerflH

(C) ZnCl2+M#f

(D) + ($NHl<rflH

145. (i^R^) t ?

(A)

(B) ̂ FTOT

(C)

(D) ^ ̂  ̂

146. Pt^l^Raa (wood)

^ ̂  Mqdl ?

(A) V\ '

(B) ̂

(C)

(D) . - ■

147. ^ 3rRT ̂  t ?

(A) M^FiH

(B)

(C)

(D) 4/ye#^

148. Rnl^fed ̂  % "fen ̂  ̂zyxwvutsrqponmlkjihgfedcbaZYXWVUTSRQPONMLKJIHGFEDCBA

■ SRT^mt ?

(A) Z77@#

(C)

(D)

149. mtTTfl^^^irjrTfcr^ *^T%^^snR'

W (^f^) 3IM ̂  t ?

(A)

(B)

(C)

(D)

150. 1^ ^ % viq-^K "S

wcttI ?

(A) ^WPfc-y/ «W-//

(B)

(C)

(D) in^'RRR^fRf
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143. The pol3nner used for insulation'

of wires carrying electricity is

(A) LDP

(B) HDP

(C) Teflon

(D) Nylon

144. Denatured alcohol contains

(A) CUSO4 + Pyridine

(B) HCHO + Quinoline

(C) ZnCl2 + Pyridine

(D) Acetone + Quinoline

145. Which of the following alloy

contains silver ?

(A) Brass

(B) Bronze

(C) German silver

(D) None of these

146. Which one of the following is not

a gross ph5rsical feature of wood ?

147. TCapok' is obtained from the

which tree ?

(A) Calotropis gigantea

(B) Bombax ceiba

(C) Ceiba pentandra

(D) Populus deltoides

148. "Ginger oil" is obtained from

which of the following plants ?

(A) Cymbopogon martini

(B) Cymbopogon nardus

(C) Vetivera zizanioides

(D) Cymbopogonflexuosus

149. White dammer* resin is obtained

from which tree species in India ?

(A) Canarium strictum

(B) Hopea odorata

(C) Vateria indica

(D) Shorea robusta

150. Which medicinal plant is used in

the cure of snake bite ?

(A) Colour (A) Rauvolfta serpentina

(B) Odour (B) Cassia fistula

(C) Lustre (C) Acorus calamus

(D) Hardness (D) Aegle marmelos
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